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B.E./B.Tech. DEGREE EXAMINATION, APRIL/MAY 2011.
Fifth Semester
Electronics and Communication Engineering
EC 336 — COMPUTER ARCHITECTURE
(Common to Biomedical Engineering)

(Regulation 2001)
Time : Three hours ) Maximum : 100 marks

Answer ALL questions.

PART A — (10 x 2 = 20 marks)
1. What is IC density?
2. What is the basic foupat of a floating point number?
3. What are coprocessors?
4. - When will quotient overflow occur?
5.  Differentiate Hardwired control unit and Mimpmgramme@ control unit.
6.  What are pipeline hazards?
7. What is memory interleaving?
8. What is locality of reference?
9.  What is bus arbitration?

10. Differentiate Memory mapped-IO and I0-mapped 10.
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PART B — (5 x 16 = 80 marks)

List out the requirements that are to be satisfied by an instruction set
and briefly explain various types of instruction, giving an example for
each.

Or

How is the performance of a personal computer system measured? Briefly
discuss about the performance measures and speed up techniques of
modern computers.

State the principle used by Carry-Look ahead adder and explain how it
works with a neat diagram.

Or
Explain the operation of the four-stage floating-point adder pipeline with
a neat diagram.

Explain the micro programmed control unit organization with a neat
diagram and explain the work of microprogram sequencer.

Or

What is nano programming? Briefly explain about the two-level control
store organization of nano programming.

What is address mapping? Explain how direct mapping and two-way set
associative mapping techniques does address mapping.

Or

Consider the following page-address trace generated by a two-level cache-
main memory scheme that uses demand paging and has a cache capacity
of four pages.

1,6,4,51,43,2,1,2,1,4,6,7,4,1,3,1,7

Assume a “hot” start, in which the cache initially has pages 1,2, 3 and 4
allocated to it. Which of the page-replacement policies FIFO or LRU is
more suitable in this case? Show your calculations and give a short
intuitive justification of your answer.
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What is direct memory access? Explain how Block transfer and Cycle
stealing method work. Show the circuit required for DMA.

Or

What are 10 processors? Explain the working of Intel 8089 IOP with a
neat diagram.




